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1. Work out    (2 + ¥3)(2 – ¥3)

 Give your answer in its simplest form.

........................................ Q1

(Total 2 marks)
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2. (a) Write down the value of 49
1
2

.....................
(1)

 (b) Write 45  in the form k 5 , where k is an integer.

.....................
(1) Q2

(Total 2 marks)

More free papers and model answers from http://bland.in



Leave 
blank

3. Find the value of

 (i)  60

  .....................................

 (ii)  
1
264

  .....................................

 (iii)  27
8

�
§ ·
¨ ¸
© ¹

2
3

 .....................................

(Total 4 marks)
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4. (a) Simplify   4p × 5q

  ....................................
(1)

 (b) Simplify   d × d × d × d 

  ....................................
(1)

 (c) Expand   4(3a – 7)

  ....................................
(2)

 (d) Expand and simplify   2(2n + 3) + 3(n + 1)

  ....................................
(2)

 (e) Simplify   t × t 2

  ....................................
(1)

 (f) Simplify   m5 ÷ m3

  ....................................
(1) Q4

(Total 8 marks)
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5. (a) Simplify p5 × p4

  .....................................
(1)

 (b) Simplify q5 ÷ q2

  .....................................
(1)

 (c) Simplify 12tu6 ÷ 6tu5

  .....................................
(2)

 (d) Simplify 
1

2 6 2(9 )w y

  .....................................
(2)

 (e) For x > 1, write the following expressions in order of size.
  Start with the expression with the least value.

  x0 x2  x xí2 
1
2x

..........................................................................................
(2) Q5

(Total 8 marks)
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6. (a) Simplify              m3 × m4

..................................
(1)

 (b) Simplify              p7 ÷ p3 

..................................
(1)

 (c) Simplify              4x2y3 × 3xy2 

..................................
(2)

 

 

Q6

(Total 4 marks)

More free papers and model answers from http://bland.in



Leave 
blank

 

7. (a) Expand and simplify 3(x + 4) + 5(2x + 1)

  .....................................
(2)

 (b) Simplify t 4 × t 6

  .....................................
(1)

 (c) Simplify p 8 ÷ p 5

  .....................................
(1)

 (d) Simplify (x4 )3

  .....................................
(1) Q7

(Total 5 marks)
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8. (a) Simplify t6 × t2

..............................
(1)

 (b) Simplify  
8

3

m
m

..............................
(1)

 (c) Simplify (2x)3

........................................
(2)

 (d) Simplify  3a2h × 4a5h4

........................................
(2) Q8

(Total 6 marks)
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